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We are getting ready to encounter the political philosophy of Karl Marx, a German philosopher who lived in the nineteenth century (1818-1883).  Marx’s political theory has had profound influence around the world and, although most people have heard of Marx, few in the United States really know who he was or what he actually had to say.  In order to understand Marx’s political theory, we must go back a bit further in intellectual history to understand an important thinker who came before him and who had a great influence on his thinking.

Background:  Hegel’s Theory of History

G.W. F. Hegel was a German philosopher who lived from 1770-1831.  Hegel began to ask some unusual and interesting questions that no philosopher had ever really asked before.  Hegel wondered what history was—not just the events or the people who make up what we think of as human history, but the forces that lie behind it and the very movement of history itself.

Hegel saw everything in the world as being in a process of fluid becoming.  At the same time, he theorized that this becoming occurred through a process of opposition which he called “dialectic.”  As one state of affairs comes face to face with something that stands in opposition to it, it is transformed or changed, and a new state of affairs emerges which supercedes the first.  “When something is dialectically superseded, it is surpassed toward a new result in which the old state is implicit but transformed” (45).  Hegel uses the German verb Aufheben to refer to this process, which can be thought of as having three aspects related to this specialized term:  “Aufheben means, first of all, to destroy, cancel, annul, negate.  Second it means to preserve, maintain, keep. Third, it means to elevate, raise up, transform…When Hegel employs these words he tells us that we are witnessing a process whose original elements, aspects or active agencies are in one sense canceled, in other sense preserved, but in an overall sense transfigured in such a way as to reappear, metamorphosed, in the result or within a later stage of the process” (46). One might even say that contained in that initial state of affairs are the very seeds of opposition, so the notion of dialectic is even more complex than we might think, since unity and opposition may themselves be unified at some point and opposed at others.  

The movement of history, according to Hegel, is constituted by the playing out of dialectic.  Specifically, dialectic refers to the movement of history through conflict and struggle.  History moves dialectically insofar as it is tugged back and forth through struggle while it progresses, it does not simply move straight ahead without conflict.  Now, you might be thinking—and Hegel certainly wondered—if history moves, then what moves it and what is it moving toward?  Oddly enough both of these questions have the same answer: Geist.  Geist could be translated as “Spirit” and we will talk about two aspects of spirit: the human aspect, simply referred to as “Spirit” and “Absolute Spirit,” which is divine.

Hegel believed that there was progress in history, that history was moving toward some goal.  Philosophers often speak of goals or purposes as “ends” (as we might say that we achieve our ends by designing appropriate means).  Hegel therefore spoke of the “end of history,” but he did not mean that at some point time stops.  Rather, history reaches its goal.  The media through which history moves toward its end are human ideas or Spirit.  “Spirit is the common consciousness of humankind in which we all participate and that evolves over time…Hegel sees humanity as a community of knowers and doers that stretches across time and space so that the accomplishments of individuals, in coming to a greater understanding of the world, contribute to the advancement of our entire species toward that goal” (88).  What represents the goal or “destiny” for Spirit, is at the same time the essence, manifestation or “actualization” of Absolute Spirit.  History is the progressive revelation of the mind of Hegel’s god, so the end of history for Hegel would be that point at which history reaches its goal:  a full revelation of the absolute mind of Geist, which necessarily coincides with a full actualization of human self-consciousness (about which a bit more below).  As history moves forward, we approach a clearer and clearer revelation of Absolute Spirit.  History’s fulfillment will occur with a full revelation of Absolute Spirit.

Art, philosophy, religion, war, politics—these are all manifestations of Absolute Spirit working through the medium of human ideas or Spirit.   Human ideas serve as the means through which Absolute Spirit reveals itself ever more clearly as we progress through history.  Geist is therefore that which moves history—is the engine of history—and that toward which history is moving.  “What is Spirit’s target, toward which human achievements, knowingly or unknowingly, direct their energies?  Hegel thinks it is one of comprehending the process whereby human consciousness attains to self-understanding…Consciousness emerges out of originally unconscious nature.  Over time, self-consciousness arises out of consciousness and becomes capable of inquiring about the process by means of which it has itself arisen, the path it has traveled, and where it is heading.  Hegel’s notion is that this is the ultimate fulfillment of thought—to ask and answer these questions.  Once having answered them, it achieves its ultimate end, or ‘actualizes’ itself most completely” (89-90). 

Hegel’s theory has deterministic elements to it.  That is to say, the end of history is already determined or fixed, and therefore human events have a certain necessity to them insofar as they must ultimately lead to a specific end or goal.  We might think metaphorically of history being both pulled and pushed by Geist toward its goal. Absolute Spirit pulls us along insofar as it stands at the “end of the line” so to speak, as the goal toward which we are progressing.  It pushes history insofar as it supplies the means by which history moves along toward that end.  The causal agents in Hegel’s theory of history are ideas—the ideas of Absolute Spirit and the human ideas or Spirit that are manifestations of Absolute Spirit.  Human historical events are the effects of god’s ideas.  Geist works through people and human events to reveal itself to humankind.   This means, incidentally, that there is a pantheistic element to Hegel’s view, and that his god is both transcendent and immanent in the world ( 88; 95ff.)  

Hegel’s theory is referred to as idealism or occasionally as dialectic idealism.  The theory is dialectic because it describes the movement of history as occurring through opposition, conflict and struggle.  It is a kind of idealism because the operative elements of historical movement are ideas, “idea” being the important root here. (Hegel’s not an idealist in the sense of being super optimistic about history, although in an odd sense, I guess he is.)  History moves through human ideas and is the revelation of god’s ideas.  When we reach the fulfillment of history, no more conflict is necessary to move history along, so there will be no more dialectic movement, no more opposition and conflict. 

So to review a few points about Hegel’s theory of history:

1)  History is progressive, i.e., it moves toward some end or fulfillment

2)  History moves dialectically, through opposition, struggle and conflict.

3)  History is deterministic on a macro level; its end or goal is fixed.

4)  Human ideas or consciousness are the media through which history moves.

Marx’s Theory of History

a.  Marx as compared to Hegel

Marx studied Hegel and as a young man considered himself part of a radical group of young Hegelians.  But Marx soon parted ways with Hegelianism, and he contributed original insights into the philosophy of history.  So, let’s turn to Marx’s philosophy in order to see to what extent he agreed with Hegel, and how he went in new directions.  Marx would agree that (1) there is progress in history toward some end, (2) that history is largely deterministic, and (3) that it moves dialectically, through opposition, conflict, and contradiction.  But what Marx sharply rejects is (4) Hegel’s idealism.  Ideas do not move history, according to Marx.  Material conditions move history.  When Marx speaks of material conditions he is referring in general terms to economic systems and economic conditions.  Material conditions are the causes of the effects that make up history.  In an overly simplistic but helpful sense, we could say that Hegel thinks that human ideas create the material conditions in which we live, but Marx thinks that the material conditions in which we live create the ideas we have.

What Marx believes, and what you will see in his work, is that the opposition that moves history along its path is the conflict and struggle inherent to economic systems: class conflict in particular, as well as other contradictions.  He describes and analyzes human epochs in terms of just this sort of conflict, beginning from the early slave holding economies of Greece and imperial Rome, through Feudal Europe, and into his nineteenth century industrial capitalism.  If we take capitalism as a given economic situation or material condition, Marx would argue that capitalism will give rise to conflict or contradiction.  That opposition, according to Marx, will be a large, unhappy, and politically organized working class.  There will ensue a clash and struggle, and the resulting situation from the dialectic will be communism.  Communism is therefore the end or fulfillment of history, an economic system in which there is no longer any conflict (and thus no more need for history to progress) because there are no longer any classes.  Marx’s theory is often called dialectic materialism or sometimes historical materialism or even just materialism.    Marx reverses the causal relationship that we might expect behind ideas by saying that material conditions cause human ideas.  Furthermore, material conditions are the engine behind history; material conditions cause conflict and struggle, and thus advance history toward its ultimate goal.

b.  Marx’s theory of the superstructure

Because Marx begins from material conditions in his theoretical stance, he believes that these conditions lie at the base or foundation of any society.  He refers to these economic or material conditions as the structure because they are similar to the basic building blocks of a very complex edifice that gets built upon and around them.  So, capitalism is an example of a structure, feudalism is an example of a structure, and a slave economy would be an example of a structure.  In Marx’s theory, ideas are no longer causes, but are instead effects.  Marx believes that material conditions cause our ideas, and he means to construe ideas in the broadest sense to include all products of human consciousness or culture: art, religion, politics, architecture, science, literature.  These products of human consciousness Marx refers to as the superstructure because they are caused by—are the products of—the structure.  The elements of the superstructure (ideas) rest upon the structure (the material conditions).  What distinguishes Marx’s theory most sharply from Hegel’s theory, remember, is his rejection of ideas as the engine of history.  Whereas Hegel views art, politics, religion, science, literature as manifestations of the mind of Geist, Marx views these social factors as consequences of the material conditions or economic structure underlying them.

Let’s take an economic system such as feudalism as an example.  This economic system is a structure and it consists of two classes: the landed aristocracy or nobility and the peasants who work the land.  Marx believes that this economic system, as any economic system, gives rise to or causes particular products of human consciousness, for example, that those who own land are somehow naturally superior—through blood lines, breeding, and so forth—to those who don’t own any land and must live at the mercy of the landholders.  This idea about the superiority of one group over the other is part of the superstructure of the feudal system.  Moreover, the feudal system might in turn give rise to a political regime that empowers those it deems to be superior to rule over the inferior who largely have no say in their own destiny.  This political practice is also part of the superstructure caused by the structure of feudalism.  So the economic structure will produce a superstructure consisting of laws, art, science, religion, and all other products of the human mind; that superstructure, in turn, is a reflection of the economic structure that created it.

We can return to our discussion of ideology now to see that it is a part of this theory of the superstructure.  We defined ideology as a belief or a belief system that maintains inequalities by various means (see handout, “Ideology”).  What we can now see is that the economic system, which contains these inequalities, perpetuates itself through generating human ideas that keep it intact: religion, literature, science, politics, and so on.  The ideas are not only effects of the existing material conditions; they also help to perpetuate and maintain those conditions.  Marx’s theory of ideology is one example of his more general theory of the superstructure.  While ideology refers specifically to ideas, the superstructure comprises more generally all manifestations of human consciousness, all products of human culture.

Marx on Capitalism

a.  important terms and concepts

In order to understand Marx’s basic critique of capitalism, we must begin with some definitions.  An entire economic system is often referred to as the mode of production.  So, capitalism is a mode of production.  Feudalism is a mode of production.  And slave labor production is also a mode of production.  The means of production refers to the several components that make up an entire system or mode of production.  So, for example, in feudalism, the means of production would include simple farming implements, serfs to work the land, the land itself, and so on.   So, if the mode of production is the whole, then the means of production are the parts that make up the whole.  A class is a group of people, all of whom have the same relationship to the means of production.  In capitalism, there are two classes, according to Marx.  The bourgeoisie, also referred to as capitalists, are those people who own the means of production.  The bourgeoisie earn their living off the profits they make from the products produced with their capital.  (Capital is defined as any type of property that is made useful through the exploitation of others’ labor, and which is used to generate profits to secure yet more capital.  It would include machinery, buildings, tools, and so forth.  These ideas will become clearer as we read more of Marx’s texts.)  The proletariat are those people who do not own the means of production and are therefore compelled to sell their labor in order to make a living.  Okay, so with all those working definitions under our belts, let’s examine Marx’s view of the capitalist economic system.  We can anticipate that Marx will describe capitalism as giving rise to, or really, already containing, some class conflict or struggle, whose result will be the abolition of capitalism and a new economic order: communism.

Everyone in a capitalist economy grows up pretty much knowing and taking for granted that a capitalist has two consistent goals in mind: maximize profits and minimize costs.  These goals are consistent because a profit is defined as the remaining revenue after all costs have been paid.  So if one has lower costs, it follows that one has higher profits.  One of the capitalist’s largest costs is the wage that must be paid to laborers, so the capitalist will try to keep labor costs as low as possible.  Theoretically, the capitalist will keep the wage at the lowest level possible—just enough to keep the worker fed and functioning so as to make the capitalist more profit.  This is called the minimum wage.  (Note that “minimum wage” in Marxist theory does not mean what we more commonly refer to in our own country as the minimum hourly wage established by Congress.)  Now imagine two scenarios.  

Scenario 1:  Capitalist owns a noodle production facility and the factory requires a minimum of 10 people in order for it to run smoothly and to produce any noodles.  The capitalist’s factory is located in a town of 100 workers.

Scenario 2:  Capitalist owns a noodle production facility and the factory requires a minimum of 10 people in order for it to run smoothly and to produce any noodles.  The capitalist’s factory is located in a town of 10 workers.

Now think through the answers to the following questions:  Which scenario works to the advantage of the capitalist?  Why?  Which scenario works to the advantage of the proletariat?  Why?

In Scenario 1, in which the capitalist needs only 10 workers but has 100 to choose from, the capitalist is at a distinct advantage.  This scenario allows the capitalist to keep wages extremely low because if one worker is unwilling to work for the wage that the capitalist offers, there are 99 others who just might do so.  In Scenario 2, in which there are 10 jobs and 10 people to fill them, the workers could unite in order to force the capitalist to offer higher wages.  The capitalist is, in the second scenario, dependent on the workers in order to get his factory working, so the workers can exert power.  This overly simple example illustrates two points that are important to Marx’s view of capitalism.  First, any surplus of unemployed workers helps the capitalist.  Unemployment works to the advantage of capitalists by allowing them to offer lower wages and thus increase their profits.  Second, when workers unite, they gain power over capitalists and can exert that power in order to get wages to a higher level.

b.  surplus value of labor

In order for the capitalist to earn a profit, the value of products sold must be greater than the value of the workers’ labor plus the value of the raw materials that go into making the product, that is, its price must be higher than the cost of making it in order for the capitalist to make a profit.  But where does that extra or surplus value come from?

Consider the matter in the following way:  Say the capitalist buys flour at $10, olive oil at $10, eggs at $10, and the labor of one person for a single day at $10.  The laborer mixes the ingredients to produce noodles at a total cost to the capitalist of $40.  (Note: this example is purposely over-simplified and does not take into considerations the cost of equipment and other capital investments.)  In order to make a profit, the capitalist will have to price the noodles higher than $40; that is, the capitalist has to recoup $40 just to break even on his costs, and will have to make more than $40 on the sale of the noodles if he expects to live off profits.  Marx explains that the capitalist  “wants to produce a commodity greater in value than the sum of the values of the commodities used to produce it, namely the means of production and the labor-power he purchased with his good money on the open market.”  

What allows the capitalist to sell the product for more than it cost to make it is the added value that came from the laborer.  This is called “surplus value.”  A bunch of flour,  eggs, oil, and water have a certain value, but when a person mixes them appropriately, rolls or kneads the dough, and cuts or extrudes noodles, the finished product has a value which is greater than the value of the sum of its parts—including the labor that went into making them—before they were noodles.

value of noodle product > value of flour + value of eggs + value of oil + value of water + value of labor.

We can call the value of the finished product its price.  That extra value in the product’s price, above and beyond all costs of materials and labor, is referred to as the surplus value of labor.  When the laborer supplies his or her labor to a product, the labor supplied to that product increases its value to a degree larger than the value of the worker’s own labor.  The capitalist makes a profit on the sale of the noodles by paying the laborer less than the value that the laborer contributed to the making of the noodles.  From the capitalist’s point of view, he will always set wages below the value he will actually extract from the worker in order to make profit.  From the laborer’s point of view, he or she is forever paid less than his or her real value, since the laborer contributes value to a product which will never be recovered in wages.  In effect, this surplus value has been extracted from the laborer by the capitalist, and it becomes the means of income for the capitalist, the profit.  This is one way to understand how Marx will use the term exploitation when speaking of labor; laborers are exploited because the value of their labor is greater than their wage.

c.  the business cycle

Now, let’s devise a slightly more complex scenario.  Imagine a small economy with one business—noodle production—and several competing firms in that business.   Imagine also that there is a surplus of workers (many more workers than jobs available) so the capitalists are able to pay the minimum wage, thus maximizing their profits.  As the capitalists continue to get as much labor out of the workers as possible, while paying as small a wage to them as possible, they will eventually create a glut of noodles.  That is, the capitalists succeed in doing what they’re trying to do—being as productive as possible with as little cost as possible—but the result is problematic.  With each noodle firm doing so well, a noodle glut will eventually result.

In the face of this noodle surplus, there are two possible consequences for the firms.  First, they might discover new markets where their noodle surplus can be sold off.  Second, the competition among the firms might force some of them out of business if the market could not absorb all the noodles; the firms that are unable to sell their noodles might go under.  Either or both of these consequences can occur after a surplus, and then the market reaches a kind of equilibrium until the next surplus.  This cycle of surplus—equilibrium—surplus repeats itself over and over again in capitalism, and Marx refers to this as the business cycle.  Marx recognized the incredible growth that is possible in a capitalist economy, but historical evidence showed him that that growth came in cycles of busts and booms in the economy.  Imagine a graph depicting the growth of an economy on the vertical axis across time on the horizontal axis.  Marx recognized that there was potential for the trend in growth to be sharply upward, but on closer inspection, that graph would comprise jagged peaks and valleys as it rose.  What alarmed Marx was the human cost during the cycle of busts and booms.  Whenever firms are forced out of the market, there is a loss of jobs and loss of economic security.  Many workers are forced into poverty and inhumane living conditions.

But a piece of the puzzle is still missing.  What happens to those individuals who used to be capitalists earning profits off noodle sales, but who lose their businesses after the glut, and what happened to those who used to work for the former capitalists who are now unemployed?  Marx says that the capitalists put out of business must leave the bourgeois class and join the proletariat.  That is, now that they have lost their capital and the profit generated from it, they must sell their labor for a wage in order to make a living.  Since Marx says that the business cycle repeats itself in capitalism, the consequences become interesting.  The bourgeois class will become increasingly smaller with each cycle as people are forced out of business, and since it will share the wealth generated by noodle profits among fewer people, it will become wealthier.  The proletariat, on the other hand, will become larger with the addition of the former capitalists, and will also become poorer as the surplus of workers increases and augments the advantage of the remaining capitalists in setting low wages in the midst of unemployment.  Marx’s analysis of the business cycle shows that as the capitalists continue to do what capitalists are supposed to do, they will create a situation in which conflict arises.  Marx concluded what has by now become cliché:  The rich get richer (and fewer) and the poor get poorer (and more numerous).  The long term consequences of a capitalist economy therefore result in a small but wealthy bourgeois class and a poor but large working class.

But in order to see where the real conflict lies we have to ask about the general material and psychological state of the proletariat.    The real conflict in capitalism arises not merely from a poor and exploited working class, but from a large, poor, miserable, and utterly alienated working class.  The conditions for the proletariat will become so terrible, Marx believes, that, they will unite to overthrow the capitalists.

d. alienation

To alienate or be alienated literally means to separate from or be separated from something. Marx believed that in the long run, capitalism would have an alienating effect on workers.  They would become separated in both material and psychological ways.  We can talk about four types of alienation.  Much of Marx’s theory hinges on the view of humanity as homo faber or “man the maker.”  The very being of our species, Marx thinks, resides in our laboring (producing, making, fabricating) to meet the needs of ourselves and others.  That is, humans are defined by a kind of social labor.  There are forces, however, that can take us away from our natural selves., and Marx is concerned with a number of phenomena that separate us from our true social and productive nature. 

In capitalism, the proletariat will become alienated from the products of their labor.  Before capitalism, one mixed one’s labor with something, and it became one’s own.  (Remember Locke?)  In earlier or smaller economies the small craftsman, the subsistence farmer, and the artisan thrived.  Moreover, many people made most of the very products that they needed for survival.  These are all examples of unalienated labor.  In capitalism, with its mass production, workers are separated from the products of their labor since they no longer own what they make and have no share in the profits.  Whatever they mix their labor with goes to the capitalist who makes a profit from its sale.  In addition, most workers produce objects that they themselves cannot afford to buy, and so are alienated from the products of their labor in this way, too.

Workers are also alienated from the process of their labor.  Whereas a single worker used to be involved in the process of production from beginning to end, capitalism arranges labor so that one is only involved in a small part of each process of production.  Capitalism devises a complex division of labor.  Such labor is repetitive and gives little satisfaction of having any connection to the finished product.  In addition, capitalism invites technology and automation that exclude human labor from some processes altogether.  The high division of labor and the mechanization of capitalism require a less and less skilled workforce over time.  Marx believed that humans became mere appendages of the machinery of capitalism.

Whereas in earlier times, humans labored to produce the very things that they, and those in their immediate communities, would then use, in capitalism, we are completely alienated or separated from those who have labored to make things for us such as our food, shelter, and so forth.   One is not connected to those who labor to meet one’s needs nor vice versa.  (There is even a question among twentieth century Marxists about the degree to which capitalist production is actually meeting needs at all.)  People thus become alienated from other human beings.  Human value becomes wage value.  The workers gain a sense of themselves that is closely tied to their ability to earn a wage.  This self-image is encouraged and perpetuated by the capitalist economy.  Likewise, family members become valued in terms of their ability to contribute wages to the family.  Marriage, child rearing, and reproduction are all negatively affected in this manner under capitalism.  What should be warm, supportive, human relations become tainted by what Marx calls the “cash nexus” which forces these relationships to degenerate into calculated, inhuman cash and wage relationships. This undermines real human value, according to Marx, and destroys important and fundamental human relations. Workers become disaffected, feeling little or no connections to work, family, self, or society.  We will pursue these ideas more deeply when we read Marx’s views on the distinction between use values and exchange values.

Our scenario of capitalism is now complete enough to show the exact nature of the opposition and conflict that Marx believes will arise in history.  Capitalism, simply by doing what it is supposed to do, creates a large proletariat class.  The proletariat class is a necessary part of capitalism; capitalism could not exist without it.  But, capitalism thus creates something that stands in opposition to it.  Out of the midst of capitalism grows not only a large and poor class whose interests are at complete odds with the bourgeois class, but a large, poor, miserable, and disaffected class that will eventually organize in unions and gain the political experience necessary for it to wield its power effectively.  Marx sees in this mass of proletariat a great power.  He sees a power that will eventually rise up to defeat capitalism and bring on the ultimate end: communism.
� The following discussion of Hegel is based in part on Michael Allen Fox, The Accessible Hegel, New York: Humanity Books, 2005.  All quotations in the following paragraphs on Hegel come from Fox’s book, and they are followed by their page references in parenthesis.





